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YIOYTCTBA 3A KAHIAUJATE

Ha 3Hak riaBHOT IeXypHOT M3BaJMTE LEAYJBUIy KOja Ce Halla3u Y KOBEPTH, MOIMYHUTE j& TPaKeHUM
JIYHUM TOAAIMMa, BPaTHUTE HEeAyJbUITY Y KOBEPTY U 00aBE3HO 3aJETUTE KOBEPTY.

BAYKHO!!!

HA CAMOJ KOBEPTHU, HA UCIIMTHOM TECTY U MAPI'HHAMA HE CMETE HAIIMCATHU HU
CBOJE UME, HUTU HEKY IIU®PY, HUTU BNJIO KAKBE /IPYT'E O3HAKE.

HcnutHu TecToBU Koju Oyay Ha OWIIO KOjU Ha4MH O3HadyeHH Ouhe onMax auckBaaudukoBaHu, 6e3 mperienama.
Hcnuthu TectoBu 6uhe mudpupaHl HAKOH IITO CBU KaHAMJATU HATYCTE€ MECTO MOJarama UCIUTA.

VYK0JIMKO TO HUCTE Beh YUMHWIN, CBOje JIMYHE cTBapH (TopOe, (acimKIIe, jaKHe...) OJJIOKUTE Ha KaTeapy

v yuBmiyk. He 3a0opaBuTe Aa MCK/bYy4YHTe M OAJI0KHTEe MOOMIHE TeiedoHe Kao U OUIIO Koje

Apyre ejleKTpoHcke ypehaje, koju He cMejy cTajaTu Ha Kiaynama, HUTH ucnog wux. Ha xiymama

Mory Ia Oymy caMo MCIIUTHH TECTOBH U OJOBKE, COK WJIM BOZA, KA0 M JIMYHA KapTa/Macoll U IMTOTBPAA O

npHjeMy JoKyMeHata (JIucTrh ca MmeyaToM W YIUCaHUM IPHjEeMHUM OpojeMm).

ITonecuTe cBOj YACOBHUK TAKO J1a C€ BpeMeE ClIake ca OHUM Ha YaCOBHUKY AexXypHux. M3pana 3amataka

He cMe Ja Tpaje ay:xe o1 120 MuHyTa. YKOIHMKO TEeCT 3aBPIIUTE IPe MCTEKa OBOT POKa, MOXKETE [a

HAITyCTUTE YYHOHHITY / ampuTeaTap. Y TOM CIIy4ajy, OKpEHHUTE TECT Ha JIMIIE H OCTABHUTE Ia HA KJIYIH.

3a u3pagy 3ajaraka MopaTe Aa KOPUCTHUTE IUIABY XeMMjcKy o0/10BKYy. Hujenan ojarosop HammcaH

rpadUTHOM OJIOBKOM WJIM OJIOBKOM V 00jM Koja HUje IiaBa Hehie OuTH mpm3Hat! Ako Hemare IuiaBy

XEMH]CKY OJIOBKY, IIOTPAXKHTE j& OJ] IKYPHHUX.

OxpeHuTe Ipyry CTPAHUIy TECTa TeK Kajaa JeKypHH o0jaBe Ja MOYHIbe 3BAHMYHO BpeMe M3pajie

TecTa.

VY npBom ey Tecta (PART A) CAMO 3AOKPYKHUTE jenan on nonyhennx onrosopa — HE TPEBA

YIUCUBATH Pelleha H Y TEKCT WIH PeYeHHITy.

VY npyrom geny tecta (PART B) TPEBA ynucupaTH peliermna Yy TEKCT HJIM peYyeHUNy.

MNAXJBUBO IMTPOUYUTAJTE YIIYTCTBA nata Ha Ho4YeTKy CBaKOT 0J1 Bex0arma, M Mpe HEero IITOo ce

ONJIyYMTE 3a JEOHO OJ TMOHyheHUX peliema, WM ynumere cBoje pemewe — I[MAK/BUBO

MPOYUTAJTE LEJU TEKCT WJIU PEUEHHUILY U 1OBPO PABMUCJIUTE.

Yxomuko cte Beh 3a0KPYKWIH WIA YIUCATH jeIHO pEIIeHe, Ma Ce MPEIOMHUCIUTE W JKEIHTe 12

320KPYKUTE WIM YIMIIETE HEKO APYro peuigskhe, TO Mopa OUTH ypal)eHO Tako Ja ce HeABOCMHCJIEHO
| KO e Baxu. Ha mpmmep, 5;; d, wim yak, yKOJIHKO ce TIOHOBO MPEIOMHCITHUTE,

@ Ynotpeba xopexropa 3a xemujcky onosky HUJE no3BosbeHa.

OJIIMO 00paTuTE Naxmy 1a Ha TecTy Tpebda naBatu CAMO JEJHY Baxehy Bep3ujy onrosopa — Hehe
ce MPHU3HABaTH OJTrOBOPHU Ca BUIIE OCTAaBJLCHHX ANTECPHATUBHUX pelnea!l Baxkehe pememe Moxere na
03HAYUTE U CTPEIHIIOM MOPE KOje TIHIIE ,,0BO BAXKH' .

OxroBopu Koju y cebu campxke OWIIO KakBy rpemiky y mucamy peun (Spelling) u mmcy y ckmaay ca
rpaMaTUYKUM PEIOM PEUH CHIVIECKE pedeHuIle Hehe OMTH MPHU3HATH — 3aTO MPOBEPHTE NIa JIM Cy Ballla
peliema ucnucaHa Ta4Ho, jacio u YUTKO.

Tect nMa ykymHO 9 cTpaHa — 0OpaTuTe NaKkby J1a HEKy OJl CTpaHa IPEIIKOM He MpecKouuTe!

Y TOKY HU3PAJIE TECTA HUKAKBA KOMYHUKAIUJA KAHAUJATA CA BUWJIO KUM
HA BNJIO KOJU HAYUH HERE BUTHU TOJIEPUCAHA. U ciM nokymaj npenucuBama Win
ynorpede elekTpoHckuX ypehaja omiio koje Bpcre kasuunhe ce TPEHYTHUM YIAJBEILEM CA
HUCIIUTA U JUCKBAJIU®UKALIUJOM.

TokoM m3pajie TecTa, He MOMKeTe TPAKUTH MOMOh WK objammkema o/ 1eKypHUX. CBe IITO KeIuTe /1a
MUTATe MOPATE MUTATH MPE HEro IITO ce 00jaBH MOYESTAK M3PAJE TECTa U MPE HETO BHIUTE CAM TECT.
OBuX ynmyTcTaBa, Kao U YIIyTCTaBa 3a pelllaBame¢ CBaKOT BexOarma Tpebda ce JOCIOBHO IPUAPKABATH.

GOOD LUCK!




PART A- MULTIPLE CHOICE TASKS

I For each numbered gap choose ONE of the four offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. DO NOT fill in the
numbered gaps. The first one (0) has been done for you.

11 pts

Although space travels are an attractive idea, many scientists warn that the human body,
accustomed to living in gravity, would not survive in a gravity-free environment.

One of those fascinated by the idea of living on other planets is theoretical physicist Stephen
Hawking. At a news conference in 2007, before his first (0) _ on a special plane with zero-gravity
flying over the Atlantic, he said that he hoped his zero-gravity flight (1) __ space exploration. He
argued that with (2) __ wiping ourselves out on Earth, humans (3) __ space. Hawking has since
argued that we must do this within two centuries (4) __ face extinction. He was no doubt encouraged
by US President Barack Obama’s announcement in April this year of a new initiative (5) __ Mars by
2030.

However, Hawking, Obama (6) __ of long-term space travel are making a grave error. Dreams
of long-haul space travel or even colonisation ignore basic biological constraints that anchor us firmly to
Earth. Humans cannot leave Earth for the several years (7) __ travel to Mars and back, for the simple
reason that our biology is closely connected to Earth. (8) _ , we need gravity. Without it, the
environment is less demanding on the human body in several ways, and this shows upon the return to
Earth. Remember (9) ___ astronauts (10) __ from the spaceship after the Apollo missions? That is as
nothing compared with (11) __ astronauts returning from Mars.

One of the first (12) ___is the heart, which shrinks (13) _ after just one week in orbit. Just to
give you a better perspective, this is equal to atrophy of the heart after six weeks in bed, suggesting that
itis (14) __ . Other muscle tissue (15) __ . How muscles respond in the state of no gravity (16) .
Because they bear the body’s weight, the “anti-gravity” muscles (17) __ degenerate drastically (18)
____during space flight. The experience of the astronauts on the International Space Station is proof
enough. (19) __ the best attempts to give replacement exercise to the crew members there on the space
station, after six months they had still lost 32% of muscles.

Arguably (20) __ bodies is bone loss. Although (21) __ an appearance of permanence, bone is
actually (22) __ flexible tissue. In the late 19th century, the German anatomist Julius Wolff discovered
that bones adjust to the loads that they are placed under. A decrease in load leads to the loss of bone

material, while an increase leads to thicker bone.

0. | A) experience in weightless C) experience of weightless
© experience of weightlessness D) experience in weghtlessness

1. | A) will encourage public’s interest in C) would encourage public interest in
B) will encourage public insterest for D) would encourage public’s interest for




2. | A) an ever-increasing risk of C) always-increasing risk to
B) all-increasing risk of D) an forever-increasing risk to
3. | A) will need to colonise C) would need to be colonised in
B) would need to colonise D) will need to be colonised by
4. | A) otherwise C) orelse
B) instead D) in stead of
5. | A) to launch people into C) about shiping people to
B) to send people to D) about moving people on
6. | A) and another supporters C) and the others supporters
B) and other supporters D) and others supporters
7. | A) ittakes C) that it takes to
B) it lasts D) that it lasts to
8. | A) For properly functioning C) To function properly
B) To properly functioning D) For properly function
9. | A) the sight of weakened C) the site of weakened
B) the sight of weaked D) the site of weaked
10. | A) surfacing C) emerged
B) emerging D) surfaced
11. | A) what will be happened with C) what would happen to
B) that which will be happening with D) that which would happen to
12. | A) things to be effected C) things to be inflicted
B) things to be afflicted D) things to be affected
13. | A) by as many as the quarter C) for as many as one quarter
B) for as much as a quarter D) by as much as a quarter
14. | A) caused by both weightlessness and no | C) caused by both weightlessness but also none
exercise exercise
B) caused by both weightlessness and not | D) caused by both weightlessness and no any
exercise exercise
15. | A) injures as well C) suffers too
B) hurtes too D) wounds as well
16. | A) is easy to verify experimentally C) are easily to verify experimentally
B) are verified easily through experiment D) is verified easy experimentally
17. | A) of the tighs and calfes C) of the thighs and calves
B) of thights and calves D) of the tighs and the calves
18. | A) when are not used C) unless they are not used
B) when are unused D) unless they are used
19. | A) Against C) In despite of
B) Despite D) Contrary to
20. | A) most frightened effect on C) the most frightened effect in
B) the most fearsome effect on D) most fearsome effect in
21. | A) the hardness and strength of bone gives | C) the hardness and strength of bone gives them
it
B) the hardness and strength of bone give | D) the hardness and strength of bone give it
them
22. | A) aliving and remarkably C) aliving and remarkable

B) an alive and remarkably

D) a live and remarkable




Il For each numbered gap choose ONE of the four offered answers to make the sentence both
grammatically correct and logical. JUST CIRCLE A, B, C or D. DO NOT fill in the
numbered gaps. The sign @ offered as an option in some sentences means that no word or word
group is missing. The first one (0) has been done for you.

9.5 pts

Theworldof __ (0)is ___ (1) to change as social networking sites open up their pages to
advertisers. The sites Facebook and MySpace are now seemingly  (2) in a battle to win over
advertisers by offering them exclusive access to visitors’ pages on their websites.  (3) sites will allow
companies to ___ (4) targeted adverts based on the ___ (5) users have provided in ____ (6) profile.
Thereis ___ (7) huge number of data for advertisers to aim ____ (8), including geographical details,
hobbies, employment, likes and dislikes and a whole world more. This opens up enormous ____ (9) for
advertisers for what is now being called ‘hyper-targeting’. The sites have dispelled fears that private data
might be used. MySpace has __ (10) its users that only data they choose to be made public __ (11)
advertisers.

The social networking sites have hundreds of millions of users, half __ (12) log on to their
personal pages __ (13). The sites allow people to connect with _ (14) and are now an important
part of people’s lives. Facebook CEO Mark Zuckerberg described how his new ads would work:
(15) by companies, but also __ (16) is shared between friends,” he said. Zuckerberg described how
advertisers would also use Facebook to advertise: “The _ (17) on Facebook is their page and that's
where businesses are going to start as well,” he explained. He added: “The first thing businesses can do
is (18) _ a page to offer the exact experience they want people to see.” Companies such as Coca
Cola, Microsoft and Sony have already signed ___ (19).

0. | A)advert ® advertising C) addvertising D) addvert

1. | A)set B) settle C) set up D) set out

2. | A)shut B) keyed C) locked D) closed

3. |AAI B) The both C) Both D) Both two

4. | A) placing B) placed C) be placed D) place

5. | A) informations B) proof C) information D) proofs

6. | A) their B) there C) they’re D) theirs

7. |AO B)a C) certain D) an

8. [A)in B) at C)to D) of

9. | A) possibility B) prospect C) potential D) opportunity
10. | A) ascertained B) assured C) insured D) encouraged

11. | A) are freed for B) is sold to C) is spared for D) are available to
12 | A) of which B) of whom C) for which D) with whom

13. | A) by a daily bases B) at a daily basis C) of a daily bases D) on a daily basis




14. | A) others across the B) other’s over the C) others’ across the D) the others across
globe globus world the earth

15. | A) They’re not just B) It’s not just C) It’s not just D) They’re just
messages that are messages that are messages that are messages that are
broadcast broadcastted broadcast broadcastted

16. | A) what B) that C) which D) who

17. | A) essence of every B) existence of every | C) core of each user D) basis of each users’
user's experience users exsperience experience expereince

18. | A) be designed B) designing C) to be designed D) design

19. | A) out B) with C) over D) up




PART B — FILL-IN TASKS

IV Fill in the blanks with appropriate verb forms (finite, non-finite or modal, active or passive)
of the verbs in brackets. Pay attention to word order and spelling. It is NOT possible to add
any other word (pronoun, noun, etc.). The first one has been done for you.

18.5 pts

I was on my way from Copenhagen, where 1 (0) __had had  (have) a business meeting, to my

home in London. I (1) (take) a flight to Rio de Janerio, in Brazil, via

London. While at the airport, | phoned my girlfriend Georgina to tell her | (2)

(be) home late that night and that she (3) (not, need, bother) (4)
(pick) me up.

| was finally on the plane. (5) (settle) comfortably into my seat, | felt

tired and ready for a drink. | was really looking forward to (6) (get) home. As

1 (7) (sip) a drink, I now remember (8) (think),

‘Only a couple of hours and I’ll be home’.

After another drink, I snoozed until | heard a flight attendant (9)

(announce), ‘We are landing at Heathrow soon’. ‘I’d better (10) (get) my things

together,” 1 thought. And that was it. I honestly don’t remember another thing until I (11)

(wake) up again later on: | just realized something strange (12)

(go) on. I noticed a man (13) (lie) across the
two seats next to me, which (14) (be) empty before 1 (15)
(fall) asleep. The little girl in the front seat, who had kept (16)
(grin) at me wasn’t there - she (17) (leave). And

weirdest of all, everyone seemed (18) (sleep).
Suddenly, it dawned on me what (19) (happen): the plane (20)

(must, land) at Heathrow, some passengers (21)
(let) off and others (22) (take) on and the plane (23)

(set) off on the next part of the journey — to Rio de Janeiro, in Brazil. What

on earth was | to do? Georgina was expecting me at home that night.

(24) (not, know) what else (25) (do), |
went to look for a flight attendant, who told me not to worry until we (26)
(land) in Rio.

In Rio they told me that | (27) (must, wait) for the next flight

to London, which was at ten o’clock. I immediately (28) (ring) Georgina. (29)
(do) that, I decided that it (30) (be) a shame
to be in Rio and not see any of it. So, | (31) (slip) out of the airport and jumped




into a passing taxi, which took me round Rio and down to Copacabana beach. On the way back to the

airport, | realized 1 (32) (must, confess) to the airport officials that
I (33) (sneak) out. The airline staff gave me an escort to watch my every
move; however, | wasn’t planning on (34) (run) away again. Finally, I got
home.

Georgina recovered from the shock and was able to see the funny side of it, eventually. As for
me, | still (35) (not, work) out how (36)
(1, sleep) through the final part of the flight to London and how (37) (1,

fly) all the way to Rio.

\ Fill in the blanks with appropriate verb forms (finite, non-finite or modal, active or
passive) of the verbs in brackets. Pay attention to word order and spelling. It is NOT
possible to add any other word (pronoun, noun, etc.).

Example: 1t (0) _ didn t rain__ (not, rain) yesterday. ops

1. Sorry, but that dog had to go. | (1) (let) you (2)

(keep) the dog if it (3) (not, bite) the

neighbours, though.

2. Ican’t have you like this any longer. I’d rather you (4) (seek) work than
goofing around all day.

3. Novak Djokovic (5) (win) 32 matches ever since he (6)

(lose) to Rafael Nadal in Madrid last April.

4. For the last two months | (7) (send) e-mails applying for different
jobs , but I (8) (not, receive) a single reply yet.

5 1f 1 (9 (start) learning Chinese last year, | (10)

(study) in China this summer.

6. I have had a test this morning but we don’t know our results yet. Only after the teacher (11)
(mark) all the tests (12) (1, know) my

results.



VI Adapt the form of the words in brackets to the context so that you get a grammatical and
meaningful text. In some examples negative prefixes are required. The first one has been
done for you.

5 pts

(0) __ Historically  (history), having a watch wasn’t just about keeping to the clock. It was a
cultural mark - a (1) (perform) of punctuality. Every time you pulled out your
watch, conspicuously and in public, you signalled to others that being (2) (rely)

was not something you wanted to be.

“You were a modern, timekeeping and regular person,” says Alexis McCrossen, a professor of

U.S. history. A 1913 advertisement for Hamilton watch (3) (explicit) described
the device as a tool for moral (4) (improve): “The Hamilton watch encourages its
owners to form (5) (desire) habits of (6) (prompt) and (7)

(precise)”. The technology even created a new compliment: if you were

ambitious and hardworking, people called you a “stemwinder” which meant “somebody who (8)

(habit) wound his timepiece”.

But pocket watches had one problem: they were (9) (practical) when you

were on the go. If you were trying to do something active - like drive a car or ride a horse - reaching into

your pocket could (10) (distraction) you and cause disaster.

VII  Fill in the sentences with ONLY ONE WORD to make a correct and logical text. If a gap
should be left empty, put the sign @. Do not leave an empty space with no word or sign. The
first one (0) has been done for you.

5 pts

Here (0) __are some facts about English-speaking countries:

Great Britain is an (1) in the North Atlantic off the north-west coast of

continental Europe. Great Britain is part of the sovereign state of the United Kingdom of Great Britain

and Northern Ireland, constituting most of its territory. Most of England, Scotland and Wales belong to

Great Britain, with their respective (2) cities: London, Edinburgh and Cardiff.
3) USA, located in the continent of North America, is (4)
to the north by Canada and to the south by Mexico. (5) Day is an American national

holiday commemorating breaking away from Britain, celebrated on July 4.

Canada is the world’s second-largest country, surpassed only (6) the Russian

Federation. (7) average, the French language is the mother (8) of

one in five Canadians.
The continent of Australia is located between the Indian Ocean and the South Pacific Ocean,

with a (9) of over 36 million inhabitants. (10) some people

may typically think so, New Zealand is actually not part of the continent.



VIl Make questions PRECISELY for the underlined words. Make sure your question includes
all the information from the sentence. Do not add new information or change the tense.

5pts

Example: John understood the complexity of the task.
What did John understand?

1. She will have her hairdo done at Mario’s as part of her prom night preparations.

?
2. He ought to have visited his dentist sooner.

?
3. She regularly does her homework in chemistry order to with the scholarship for young

researchers.

2
4. The police are reported to be guestioning two suspects.

2

5. The Brazilians ran out of patience with their government’s economic measures.




